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QUESTION 1

Which of the following statements fts the principles of experience-based testng? [K2] 1 credit 

A. Coverage calculatons can be used to determine the amount of testng required 

B. Diferent people will have a diferent experience level regarding usability testng 

C. Models can be used to derive the required test cases 

D. Experience in test executon is more important than experience in test design 

Correct Answer: D 

 

QUESTION 2

A temperature unit holds the temperature between 10 degrees Celcius and ?0 degrees Celcius. If the temperature drops
below ?0 or rises above 10 then an alarm rings. Boundary Value Analysis tests are drawn up using the approach of two
test cases per boundary. The temperatures to be tested are: [K3] 2 credits 

A. 11, 10, -11, -10 

B. 11, 10, 9, -11, -10, -9 

C. 11, 9, -9, -11 

D. 10, 9, -9, -10 

Correct Answer: A 

 

QUESTION 3

Which of the following is a type of testng that someone in the role of a test analyst, working with the test manager,
should typically consider and plan for? [K2] 1 credit 

A. Security testng 

B. Reliability testng 

C. Accessibility testng 

D. Performance testng 

Correct Answer: C 

 

QUESTION 4

Study the "Supercar" classifcaton tree, which of the following statements is correct? 
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[K3] 2 credits 

A. The classifcaton tree is correct and complete 

B. The optons for "in stock" are missing 

C. Order informaton is missing 

D. The error message is missing 

Correct Answer: B 

 

QUESTION 5

Tax system A tax system needs to be updated due to new legislaton. For a person with a salary of less than 20.000 and
who is married, the tax needs to be re-calculated. If the person also has more than two and less than fve children, an
additonal 10% reducton is applicable. Applying equivalence parttoning to the "Tax System" specifcaton, which of the
following set of equivalence classes is most efectve in testng the processing the number of children? [K3] 2 credits 

A. 2, 4 and 6 children 

B. 2, 4 and 5 children 

C. 1, 3 and 6 children 

D. 3, 4 and 6 children 

Correct Answer: B 
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